Ratio to ATLAS

o O, /dndp_ [Ub/GeV]

H
o
o1

=
o
S

H
o
w

H
o
N

=
o

1072

1073

[EEY

0.5

7000 GeV pp Jets
I T T | T T T | T T T ' ' ! ]
? Jet p_(anti-k_(0.6)) §
- | _
= Sl E
= = =
- ge =
- Em __
% E\IEI*\\ %
~  m ATLAS i N .
=~ --O-- Herwig++ 2.7.1 default 1:3]""::::%:\ _____ 5 =
— ---- Herwig 7.2.0 default - *:$ =
B | | | | | | | | | | | | | | | |_
= | 1 l | ' ' ' | ! ' ' | ' I I =
- \\\T T ‘,f"’q?\ i n
_ e s
0 20 40 60 80

track jet P, [GeV]

Rivet 3.1.0, = 5.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


